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Connect the dot for an anewer to the dot for the previous anawer.

Write each answer in simpiest radical form.

Start a pew lins. 12) PR

1) m&ACE 13) MP

1) AB 14) EF

3) AZ 15) mZEDC
4) CZ 16) D'H'

i) m&Y 17.) DA

6) EY.ifEFis 11 19.:- .{]?I

1) FYifEFis1l 10} HT

P 4 20 FY fEFis 10V 6

8.) EFisFYis W1

0} HE f me&K iz 30°, and HL is 11:-1" 3

10) KL if m#K iz 30°, and HI is 1
11) MQ

Ctart 3 pew lina.
21} m£XGI given meX iz 307 and Glis 9
2y XG given mLY & 3P md GLie 0
3y X giﬁnrﬂ-ﬁ}{ is 50° and GI i= ¢
24) Wleven W5 = 7 and 8T 157
Siart a new line,
25) WT miven W3 = 15and 5T 1= 20
26.) WT piven W35 5 6 and 5T is 'ﬁﬂrﬂ-
21y FYifEFis9
28) EF1fFY 1220
Cirelz this sneswsr
20.) HE given HL 15 5 and KL 1511



